Uplands Manor Primary School

Key Instant Recall Facts (KIRFs)




By the end of this half term, children should know the
following facts. The aim is for them to recall these facts

instantly.

They should be able to answer these questions in any

order, including missing number questions

e.q. 19+Q=200r ZO—O=8.

0+20=20
1+19=20
2+18=20
3+17=20
4+16=20
5+15=20
6+14=20
7+13=20
8+12=20
9+11=20
10+10=20

20+0=20
19+1=20
18+2=20
17+3=20
16 +4=20
15+5=20
14+6=20
13+7=20
12+8=20
11+9=20

20-0=20
20-1=19
20-2=18
20-3=17
20-4=16
20-5=15
20-6=14
20-7=13
20-8=12
20-9=11
20-10=10

20-20=0
20-19=1
20-18=2
20-17=3
20-16=4
20-15=5
20-14=6
20-13=7
20-12=8
20-11=9

" kon Vocahulars

What do I add to
5 to make 207

What is 20 take
away 6?

What is 3 less
than 207

How many more

than 16 is 20?
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By the end of this half term, children should know the following facts. The aim is for them to recall

these facts instantly.

Bridging the 10 using number bonds
Children use a bead string to complete a 10
and understand how this relates to the
addition.
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7 add 3 maxes 10.
S0, 7 add 35 10 and 2 more.

Bridging the 10 using number bonds
Children use counters to complete a ten
frame and understand how they can add
using knowledge of number bonds to 10.
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Bridging the 10 using number bonds
Ise a part-whole model and a number line
to support the calculation.
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These are the facts that need to be learnt until they are

instantly recalled:

3+8=1
Lb+7=1
L +8 =12
54+47=12
5+48=13

6+8=14

8+3=1
7+ 4=1
8+ L =12
/7+5=12
8+5=13
6+8=13

4 N

Key Vocabulary

Make ten and add the

rest.
Bridging
Add

Subtract




By the end of this half term, children should know the following facts. The aim is for them to recall these

facts instantly.

This half term, children will learn to add 9 or 8 by using compensation. This method requires children to

add 10 and then subtract 1 or 2.

For example: Facts to be learnt using this method:

/ + 9isthesameas/7 + 10 -1 and 3+9=12 Q+3=12

7 + 8 isthe sameas 7 + 10 - 2 b +9 =13 9+ 4 =13
5+9=14 9+5=14
6 +9=15 9+6 =15
7+9=16 9+7=16

these additions.

12-9=3 -9=5
12-3=9 I -5=9
13-9=4 15-9 =6
13-4=9 15-6=9

Children should also explore the subtraction calculations that link to

16-9=7
16-7=9
17-9=28
17-8 =19

Key Vocabulary

C ompensation

Round

Adjust




Facts that need to be learnt:

5+ 6
6 +5
6 +/
/ + 6
/ + 8
8+ 7
8+ 9
9+ 8

11
11
13
13
15
15
17
17

By the end of this half term, children should know the following

facts. The aim is for them to recall these facts instantly.

Children should begin by recapping their doubles to 10.
Then make links to the doubles they already know. E.g. if I
know that double 7 is T4, then 7 + 8 must be 15 as it is one

more.
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Key V r

What is double 9?

What is half of Th?
If I know that double

9 is 18 then I know
that 9 and 8 is 17

because it is one less.
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By the end of this half term, children should know the following facts. >x1=2 X ,.,., / \
The aim is for them to recall these facts instantly. 2x2=4 (X) 4+2=12
2?(3.:5 m E+l=3
: : . . 2x4=8 m 8+2=4
They should be able to answer these questions in any order, includin
Y 9 y ) 9 2x5=10 L] 10+2=5 Key V r
missing number questions 2%x6=12 LX) 12:2=6
eq.2x(O=80r()+2=6. 2x7=14 LX) 14e2-7 . i
9 O O 2x8=16 @@ 16+2=8 What is 2 multiplied
2x9=18 Cxa 18+2=9 by 7?
2x10=20 T 20:2=10
2x11=22 ] 2:2=11
2x12=24 [ 24:2=12 What is 10 times 97
10x1=10 <) 10+10=1
10 x2=20 " 20+10=2 What is 12 divided by
10x3=30 Q: ID+10=3 2p
10 x 4 = 40 — 40+10=4 :
10 x 5 = 50 ) 50+10=5
10x6=60 . 60+10=6 What is 110 divided
10x7 =70 N 70:10=7 ,
10x8=80 ' 80+10=8 by 10:
10x9=90 ( <) 90+10=9
10x10=100 L '

10x 11 =110 % (
10x12=120 W~
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By the end of this half term, children should know the following Cr1os i ﬂ el / \
facts. The aim is for them to recall these facts instantly. 5x2=10 :LD:- 5=
5x3=15 i ﬂ 15+5=3
They should be able to answer these questions in any order, 5 x4 =20 20:5=4
including missing number questions e.q. 5x5=25 25+5=5 Keuw V
r
5x()=400r()+5=9. 5x6=30 é ﬂ 30+5=6 : -
&x7=35 5:5=7 What is 5 multiplied
S x 8 =40 é @ 40:5=8 by 77
Sx9=45 45+5=9
5x10=50 i é 50 +5=10 What is 5 times 97
5x11=55 55+5=11
5x%12=60 60+5=12 What is 60 divided
i é by 57
If your child is doing well with these facts —
go back to the 2s and 10s as well. Can
they answer questions from all three times

tables mixed in? k /




